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(i) "9 1 9 F 18 TF oY I U & R UAF 2 3d @1 2|

(iv) 999 G& 19 ¥ 27 d& ) &Y STNY U € AR uqF 3 3d @1 2|

(v) We 6@ 28 A 30 9% Y ST U B 3R uAF 5 3P BT 2|

(vi) I amavasd & o, &1 ARV P TR FR GG & | dergeiey B TANT aivfa 2|

(vi)) Yo u¥ ¥ ARAT AR IR T 9P FRA TGA| A Y T A & 99 R G
e 9 P |

(i) There arc in all 30 questions in this question paper. All questions are compulsory.

(i) Question No. 1 to 8 arc very short answer questions and carry | mark each.

(1) Question No. 9 to 18 are short answer questions and carry 2 marks each.

(iv)  Question No. 19 to 27 are also short answer questions and carry 3 marks each.

(v)  Question No. 28 to 30 are long answer questions and carry 5 marks each.

(vi) Use Log tables, if necessary. Use of calculator is not allowed.

(vil) Start from the first question and proceed to the last. Do not waste time over a question, if
you c¢an not solve,

Irfdrenyor 7 Brar ® ? 1

What is adsorption ?

IyFEEArSTH AF K, [Cr(C,0,),] BT IUPAC A forRad | 1

Write the IUPAC name of coordination compound K;[Cr(C,0,),].

F BT ® O9 At BT AR B ar & ? 1

What happens when phenol is oxidised ?

Rea el & qfd iR - Vot Vo1
Fill in the blanks
() wifeeage &1 40% faaTs FHEAT & |

A 40% aqucous solution of formaldehydc is called

(@) ofeeEresl o s g Qebd 4 R s o 2

The conversion of aldchydes into alkanes by reduction is termed as - Treaction.

Haver dfemrge deewor &1 v s e @ e fFar sar & — 1
Gabriel Phthalimide synthesis is used for preparation of —

() 1" ) 2° ©hA Gi) 3° W (v) 2 @

1 amine 29 amine 3° amine all of these
Ta # facw @ fRefa=t & am foRad | 1
Write the name of two water soluble vitamins.
PVC ®T Uhold &l gl & 7 1

What is the monomer of PVC ?
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8. SARATI FT B € 7 US BETeRl <Y | 1
What are antipyretic ? Give an example.
9. fr=ifafaa gl &1 aRvifa aifdie — _ 141=2
Explain the following —
() dicar A9 (@) waod W
Schottky defect Frenkel defect
10. 8 &1 BREABT fec Tad # BaT 8| AR TS DA & BRI B oharg
4.07 x 10~%cm TAT T7ed 10.5gem™ & @l A4l &1 WHIvad TAAH A DI | 2
Silver crystallises in fcc lattice. If edge length of the cell is 4.07 x 10~ %cm and density is
10.5 g cm™3 calculate the atomic mass of silver.
11. f=fRad & w9eEd - (&) deral (@) urcd wfa fafea [@ded) 1+1=2
Explain the following — Molarity Parts per million (ppm)
Jal (OR)
FIRed Al 4 g (IR = 40) B T 4 ®iddR 200 cm’ fdergs =man |
faetas @t AroRdT s BRI | 2
4 g of caustic soda (molar mass = 40) is dissolved in water and solution is made to 200 cm'.
Calculate the molarity of the solution.
12, B B fagd—smaed weRl fram fafag 2
State the Faraday’s law of electrolysis.
13. Prafafea @ soaefe faam faRey — 141=2
Write down the electronic configuration of the following
(®) cr (@) Fe?
14, AR g% Rigra @ 21 IRAEY forfag | 2
Write two limitations of the Valence Bond theory.
15. fa=1 aRads & &3 - 1+1=2
How the following conversions be carried out -
(@) I~ A SIEBHA (@) v | FAREIA
Benzene to Diphenyl (b) Aniline to Chlorobenzene
16. TIZFARMIA B Ted T gt ¥ @l Wrda aRa § ° wefta affhar qa gl
PR I | 2
Why does Trichloromethane store in dark coloured bottles ? Give reason with related reaction.
17. (@) amuge (@ERIfET) Tgaed @ B § ? b IereRYT AR | 1
What are thermosetting polymers ? Give one example.
(@) Sy &1 a1 QAT | 1
Give chemical name of Teflon.
18. fm= &t tF I<ERY [t WSy — 1+1=2
Describe the following with one example -
(®) aus (@) @re aRRerd
Narcotics Food Preservatives
19. (®) A &1 qen 39 Heyel sruanT fafk | 2
State Henry's law and mention its important applications.
(@) K,S0, @ 9 W RAaa # ave €% [uid &1 94 FT 8 7 1
What would be the value of Vant’s Hoff factor for a dilute solution of K,SO, in water ?
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20, FARS WA R B P T ol wA™G el @ A@iforT iy &1 avh wwmafie
sifdfsrarsi @1 e | Hifor | 3
What is secondary Battery ? Write the mechanism of recharging of lead storage battery with the
help ofchx.mlcal reactions.

A4l (OR)

) HIH goagre faig & gfnfia SR 1
Define Standard Electrode Potential.

(@) fvaa Ja & 5 = sdaers g 11 v &
HAfBAT Zn (s) + Cu™* (aq) ——> Zn?* (aq) + Cu(s) @ RN A& st St &1
TRever B | 2
The standard electrode potential for Daniell cell is 1.1 V. Calculate the standard Gibbs energy
for the reaction Zn (s) + Cu®* (aq) —> Zn** (aq) + Cu (s).

21, feudf foRey — (&) sres (@) wpeed (M) dgd I WA 1+14+1=3
Write short notes Dialysis Coagulation Elcctrophoresis

22. W& @ < YW AP & AW I GA fafaw | 5N o s @ edar At e
&1 fafey &1 9o @ifoTe | e affeard «f S 3
Give the name and formula of two main ores of Iron. Describe the method to obtain Cast Iron from
one of its ore. Give chemical reactions also.

23. (@) FrfoRad sidfrast & wafer smafe e ke 2

Write the balanced chemical equation of following reactions
(i) Ca; P, + H,0 — (i)  Xe Fs+3H,0

(@) rTReloE Affe Far B § ? SaTeNvr Gfed adisd | 1
What are interhalogen compounds ? Write with example.

24. (®) =AY HPHY T FT I € ? T° U A9 ) fear e & ? 2

What are mm,r transition elements ? Why are they so called ?

(@) oFATge o § $ad 14 9 i € ? 1
Why there are only 14 elements in lanthanoid series ?

25. urRIf®, fgflad Gun qfas Tooela @1 B & ? @ g @ oW e, Rdue
IR ARG Tepled eld KMno, e & wam & smafiga f5a s ¥ 3
What are primary, secondary and tertiary alcohols ? What happens when primary, sccondary and
teriary alcohols are oxidised using acidified KMnO,.

26. A= am affransl &1 sarafie adevo afta folRed — 1+1+1=3
Write the following name reactions with chemical equations -

(b) JHMIAUEET (@) BHEA FHEES AW (M g afafea
Ammonolysis Hoffmann Bromamide Reaction Coupling reaction
27. (&) WRR a MAFER FET § s we A | 2
Clarify the difference between fibrous and globular proteins.
q) ~feeraerss 7 © ? 1
What is nucleotide ? '
28. (@) word ®ife & sffbar & fore wrefera A wfiewor o agaafy A | 3
Derive the integrated rate equation of first order reaction.
(@) mafe affear o snfdgear 7 eI & e Hifvro| 2
Differentiate between molecularity and order of a chemical reaction.
204l (OR)
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(@) T v @ife aifafbar 60 BFe d 75% qof exft 21 3@ Affha & ard—amy s
BT | 3
A first order reaction is 75% complete in 60 minute. Find the half-life of this reaction.

(@) afafshar & 71 e AEHAU Sl R ISRE BT WG GHSNEA | 2
Exp]ain the effect of catalyst on rate of reaction and activation cnergy.

29. (%) BER WhH §RI NH; & I1GH &1 AAF o= ST | 3
Describe the manufacture of NH; by Haber’s process with diagram.

@ @ 18 & T B I TG B AW F @ AT W@ & ? Iope dE B
FIUIH agd HH i B § ? 2
Why are the clements of Group 18 known as noble gases ? Noble gases have very low
boiling point. Why ? '

HACT (OR)

frefofaa & sro W< Bifd — 1x5=5

Give the reasons of following

(@) PH, T FaAUIEH NH, B 37T H9 &ar 2|
PH; has lower boiling point than NH;.

(@) HO0TH g9 & 3R H,S TP 4|
H,0O is a liquid and H,S a gas.

@) Bferam & MA@ & IuHol & Iuan fbar sivar 2
Helium is used in diving apparatus.,

() STEAELT A B AU W A Ghare 2
Dinitrogen is less reactive at room temperature.

®) 1L 101 IeF fFarha 2
[C] is more reactive than [-.

30. (@) w9ensd & w®i ikfcsrgs YoSia |u-F a1 @ Wafe wrifesegs =8 2
Explain that why acetaldehyde gives aldol condensation while formaldehyde does not ?

(@) ffoRea wumRol &) fdean a1 @olf # 59 goR ¥ T =1 Hal ~ 2
How will you bring about the following conversions in not more than two steps —

() "OEH [ udE (i) ISP I A ToIfeSERS
Propanone to Propene Benzoic acid to Benzaldehyde
(1) SRS TIE B A B qAATZY | 2
Explain the structure of Carbonyl group.
HAA4GT (OR)
T FEEE AfNE A H 69.77% BIEA, 1163% TSOA IR AY IR
2| Afte &1 avifde e 86 21 I8 dfMa cfad sfMeds & suafdd d
AT W] WSTT BIggrod Heblse P AR S IR 99T 2 IR
JASHETH G ) WReTA | AT 2| WA IFABRY IRA W UG QYAISS 3
3R AUHTEE 3 AT 21 UG U B IEIa g2 e cAC @ wwifaa wvaen
AT | 5
An organic compound ‘A’ contains 69.77% carbon, 11.63% Hydrogen and rest Oxygen. The
molecular mass of the compound is 86. It does not reduce Tollen’s reagent but forms an
addition compound with Sodium hydrogen sulphite and gives positive Idoform test. On
vigorous oxidation it gives ethanoic acid and propanoic acid. Write the possible structure of
the compound ‘A’ by explaining every step.
o ok ok ok
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